Bid Schedule A

Project No.: ERFO-UOC 118 (1)

Project Name: MOLLICY BAYOU BRIDGE REPLACEMENT

State:LAOpened at:Sterling, VACounty:MOREHOUSE PARISHBy:Jason Albright

UPPER OUACHITA NATIONAL WILDLIFE Date: 05/24/2012

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Jason Albright

Title: Contract Specialist Date: 05/25/2012

Contract Awarded to: Guinn Construction, LLC Date: 06/29/2012

Contractor	Bid Amount	Responsive
Tropical Contracting, LLC 6363 DeZavala #107 San Antonio, TX 78249	564,475.00	No
San Antonio, 1A 78249		
Guinn Construction, LLC	752,740.00	
1616 Industrial Drive		
Jennings, LA 70546		
Gulf Group, Inc.	812,687.00	
7402 Highway 2302	•	
Southport, FL 32409		
Engineer's Estimate	560,000.00	

Date: 05/25/20

Bid Schedule A

Project No.: ERFO-UOC 118 (1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Tropi	cal Contracting, LLC		ALL	25,000.00	25,000.00
Guinn	Construction, LLC			65,000.00	65,000.00
	Group, Inc.			60,000.00	60,000.00
ENGI	NEER'S ESTIMATE			41,950.00	41,950.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
Tropi	cal Contracting, LLC		ALL	8,000.00	8,000.00
Guinn	Construction, LLC			25,000.00	25,000.00
Gulf (Group, Inc.			25,000.00	25,000.00
ENGI	NEER'S ESTIMATE			12,000.00	12,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Tropi	cal Contracting, LLC		ALL	8,000.00	8,000.00
Guinn	Construction, LLC			25,000.00	25,000.00
Gulf	Group, Inc.			25,000.00	25,000.00
ENGI	NEER'S ESTIMATE			12,000.00	12,000.00
15705-0100	LNFT	SOIL EROSION CONT	ROL, SILT FENCE		
Tropi	cal Contracting, LLC		1,050	3.00	3,150.00
_	Construction, LLC			6.00	6,300.00
Gulf	Group, Inc.			9.50	9,975.00
ENGI	NEER'S ESTIMATE			5.00	5,250.00
20103-0000	SQYD	CLEARING AND GRU	BBING		
Tropi	cal Contracting, LLC		770	40.00	30,800.00
Guinn	Construction, LLC			8.00	6,160.00
Gulf	Group, Inc.			5.10	3,927.00
ENGI	NEER'S ESTIMATE			3.50	2,695.00
20301-0400	EACH	REMOVAL OF BRIDG	E		
Tropi	cal Contracting, LLC		1	25,000.00	25,000.00
-	Construction, LLC			40,000.00	40,000.00
Gulf (Group, Inc.			60,000.00	60,000.00
	NEER'S ESTIMATE			15,000.00	15,000.00
20301-1900	EACH	REMOVAL OF PIPE C	ULVERT		
Tropi	cal Contracting, LLC		1	2,500.00	2,500.00
_	Construction, LLC			1,500.00	1,500.00
	Group, Inc.			6,000.00	6,000.00
ENGI	NEER'S ESTIMATE			600.00	600.00

Date: 05/25/20

Bid Schedule A

Project No.: ERFO-UOC 118 (1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20403-00	00 CUYD	UNCLASSIFIED BORROW			
-	Γropical Contracting, LLC		160	50.00	8,000.00
(Guinn Construction, LLC			65.00	10,400.00
	Gulf Group, Inc.			40.00	6,400.00
]	ENGINEER'S ESTIMATE			41.00	6,560.00
20420-00	00 CUYD	EMBANKMENT CONSTRU	JCTION		
-	Γropical Contracting, LLC		200	50.00	10,000.00
(Guinn Construction, LLC			75.00	15,000.00
	Gulf Group, Inc.			50.00	10,000.00
]	ENGINEER'S ESTIMATE			28.00	5,600.00
20701-15	00 SQYD	EARTHWORK GEOTEXTI	LE, TYPE IV-D		
-	Tropical Contracting, LLC		270	3.00	810.00
	Guinn Construction, LLC			10.00	2,700.00
	Gulf Group, Inc.			27.00	7,290.00
]	ENGINEER'S ESTIMATE			20.00	5,400.00
20801-00	00 CUYD	STRUCTURE EXCAVATION)N		
-	Tropical Contracting, LLC		110	55.00	6,050.00
(Guinn Construction, LLC			50.00	5,500.00
	Gulf Group, Inc.			36.00	3,960.00
]	ENGINEER'S ESTIMATE			250.00	27,500.00
20815-00	00 LPSM	COFFERDAMS (INCLUDIN	NG DEWATERING	MATERIAL AND EC	QUIPMENT)
-	Fropical Contracting, LLC		ALL	25,000.00	25,000.00
(Guinn Construction, LLC			50,000.00	50,000.00
	Gulf Group, Inc.			65,000.00	65,000.00
]	ENGINEER'S ESTIMATE			75,000.00	75,000.00
25101-20	00 CUYD	PLACED RIPRAP, CLASS	2		
-	Γropical Contracting, LLC		2	95.00	190.00
(Guinn Construction, LLC			1,500.00	3,000.00
(Gulf Group, Inc.			1,000.00	2,000.00
]	ENGINEER'S ESTIMATE			330.00	660.00
30103-40	00 CUYD	AGGREGATE BASE GRAI	DING C OR D		
-	Γropical Contracting, LLC		10	75.00	750.00
(Guinn Construction, LLC			250.00	2,500.00
	Gulf Group, Inc.			200.00	2,000.00
]	ENGINEER'S ESTIMATE			150.00	1,500.00

Page 3

Date: 05/25/20

TABULATION OF BIDS

Bid Schedule A

Project No.: ERFO-UOC 118 (1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
30110-0	000 TON	AGGREGATE SURFACE	COURSE		
	Tropical Contracting, LLC		245	65.00	15,925.00
	Guinn Construction, LLC			85.00	20,825.00
	Gulf Group, Inc.			75.00	18,375.00
	ENGINEER'S ESTIMATE			70.00	17,150.00
30302-1	000 LNFT	DITCH RECONDITIONIN	NG		
	Tropical Contracting, LLC		25	8.00	200.00
	Guinn Construction, LLC			50.00	1,250.00
	Gulf Group, Inc.			300.00	7,500.00
	ENGINEER'S ESTIMATE			9.00	225.00
30502-0	700 SQYD	AGGREGATE-TOPSOIL	COURSE, 4-INCH DEPTI	H	
	Tropical Contracting, LLC		120	5.00	600.00
	Guinn Construction, LLC			25.00	3,000.00
	Gulf Group, Inc.			125.00	15,000.00
	ENGINEER'S ESTIMATE			14.00	1,680.00
55101-1	900 LNFT	STEEL H-PILES 14 X 89,	IN PLACE		
	Tropical Contracting, LLC		550	300.00	165,000.00
	Guinn Construction, LLC			150.00	82,500.00
	Gulf Group, Inc.			180.00	99,000.00
	ENGINEER'S ESTIMATE			100.00	55,000.00
55201-0	200 CUYD	STRUCTURAL CONCRE	TE, CLASS A (AE)		
	Tropical Contracting, LLC		65	685.00	44,525.00
	Guinn Construction, LLC			2,000.00	130,000.00
	Gulf Group, Inc.			1,500.00	97,500.00
	ENGINEER'S ESTIMATE			1,250.00	81,250.00
55201-0	800 CUYD	STRUCTURAL CONCRE	TE, CLASS D (AE)		
	Tropical Contracting, LLC		35	685.00	23,975.00
	Guinn Construction, LLC			2,500.00	87,500.00
	Gulf Group, Inc.			1,500.00	52,500.00
	ENGINEER'S ESTIMATE			1,400.00	49,000.00
55302-3	300 LNFT	PRECAST, PRESTRESSE GIRDER)	D CONCRETE AASHTO	GIRDERS (TYP)	E II AASHTO
	Tropical Contracting, LLC		200	450.00	90,000.00
	Guinn Construction, LLC			200.00	40,000.00
	Gulf Group, Inc.			300.00	60,000.00
	ENGINEER'S ESTIMATE			150.00	30,000.00

Date: 05/25/20

Bid Schedule A

Project No.: ERFO-UOC 118 (1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount	
55401-1000	LB	REINFORCING STEEL				
Tro	pical Contracting, LLC		15,000	1.00	15,000.00	
Gui	nn Construction, LLC			2.00	30,000.00	
Gul	f Group, Inc.			2.00	30,000.00	
EN	GINEER'S ESTIMATE			1.45	21,750.00	
55601-1000	LNFT	BRIDGE RAILING, STE	EL, ONE RAIL			
Tro	pical Contracting, LLC		124	150.00	18,600.00	
Gui	nn Construction, LLC			185.00	22,940.00	
Gul	f Group, Inc.			160.00	19,840.00	
EN	GINEER'S ESTIMATE			70.00	8,680.00	
56401-1000	EACH	BEARING DEVICE, ELA	ASTOMERIC			
Tro	pical Contracting, LLC		8	300.00	2,400.00	
Gui	nn Construction, LLC			100.00	800.00	
Gul	f Group, Inc.			250.00	2,000.00	
EN	GINEER'S ESTIMATE			300.00	2,400.00	
60201-0600	LNFT	18-INCH PIPE CULVER	Γ			
Tro	pical Contracting, LLC		50	75.00	3,750.00	
Gui	nn Construction, LLC			90.00	4,500.00	
Gul	f Group, Inc.			120.00	6,000.00	
EN	GINEER'S ESTIMATE			73.00	3,650.00	
61701-2000	LNFT	GUARDRAIL SYSTEM G4, TYPE 4, CLASS B WOOD POSTS				
Tro	pical Contracting, LLC		60	50.00	3,000.00	
Gui	nn Construction, LLC			60.00	3,600.00	
Gul	f Group, Inc.			330.00	19,800.00	
EN	GINEER'S ESTIMATE			42.00	2,520.00	
61702-0600	EACH	TERMINAL SECTION, T	TYPE FLARED			
Tro	pical Contracting, LLC		4	1,500.00	6,000.00	
Gui	nn Construction, LLC			3,500.00	14,000.00	
Gul	f Group, Inc.			2,500.00	10,000.00	
EN	GINEER'S ESTIMATE			3,500.00	14,000.00	
61920-2000	EACH	REMOVE AND RESET (GATE			
Tro	pical Contracting, LLC		1	1,500.00	1,500.00	
	nn Construction, LLC			5,000.00	5,000.00	
	f Group, Inc.			3,000.00	3,000.00	
EN	GINEER'S ESTIMATE			1,500.00	1,500.00	

Date: 05/25/20

Bid Schedule A

Project No.: ERFO-UOC 118 (1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
62401-030) SQYD	FURNISHING AND PL	ACING TOPSOIL, 4-IN	СН ДЕРТН	
Tı	opical Contracting, LLC		1,190	5.00	5,950.00
G	uinn Construction, LLC			3.50	4,165.00
G	ulf Group, Inc.			3.00	3,570.00
El	NGINEER'S ESTIMATE			18.00	21,420.00
62502-000) SQYD	TURF ESTABLISHME	NT		
Tı	opical Contracting, LLC		1,300	2.00	2,600.00
G	uinn Construction, LLC			3.50	4,550.00
G	ulf Group, Inc.			4.50	5,850.00
El	NGINEER'S ESTIMATE			7.50	9,750.00
62901-030) SQYD	ROLLED EROSION CO	ONTROL PRODUCT, TY	PE 1.C	
Tı	opical Contracting, LLC		200	2.00	400.00
G	uinn Construction, LLC			10.00	2,000.00
G	ulf Group, Inc.			40.00	8,000.00
El	NGINEER'S ESTIMATE			4.50	900.00
62901-110) SQYD	ROLLED EROSION CO	ONTROL PRODUCT, TY	YPE 4	
Tı	opical Contracting, LLC		400	2.00	800.00
G	uinn Construction, LLC			8.00	3,200.00
G	ulf Group, Inc.			45.00	18,000.00
El	NGINEER'S ESTIMATE			9.00	3,600.00
63308-300) EACH	OBJECT MARKER, TY	YPE 3		
Tı	opical Contracting, LLC		4	250.00	1,000.00
G	uinn Construction, LLC			150.00	600.00
G	ulf Group, Inc.			300.00	1,200.00
El	NGINEER'S ESTIMATE			190.00	760.00
63503-030) LNFT	TEMPORARY TRAFF	IC CONTROL, BARRICA	ADE TYPE 3	
Tı	opical Contracting, LLC		100	50.00	5,000.00
G	uinn Construction, LLC			40.00	4,000.00
G	ulf Group, Inc.			60.00	6,000.00
El	NGINEER'S ESTIMATE			30.00	3,000.00
63504-1000) SQFT	TEMPORARY TRAFF	IC CONTROL, CONSTR	UCTION SIGN	
Tı	opical Contracting, LLC		150	10.00	1,500.00
	uinn Construction, LLC			35.00	5,250.00
G	ulf Group, Inc.			20.00	3,000.00
El	NGINEER'S ESTIMATE			27.00	4,050.00

Page 6

TABULATION OF BIDS

Date: 05/25/20

Bid Schedule A

Project No.: ERFO-UOC 118 (1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63701-0000	EACH	FIELD OFFICE			
Tropic	cal Contracting, I	LLC	1	3,500.00	3,500.00
Guinn	Construction, L	LC		25,000.00	25,000.00
Gulf (Group, Inc.			40,000.00	40,000.00
ENGI	NEER'S ESTIM	ATE		16,000.00	16,000.00

Bid Schedule A

Project No.: ERFO-UOC 118 (1)

Project Name: MOLLICY BAYOU BRIDGE REPLACEMENT

BID ITEM CHECK PASS

Date: 05/25/20

Bidder	Item No.	Bidder's Extension	Computed Extension
		2.1141101011	2.1141101011

No extension errors in this Schedule.

Bid Schedule A

Project No.: ERFO-UOC 118 (1)

Project Name: MOLLICY BAYOU BRIDGE REPLACEMENT

BID TOTAL CHECK PASS

Date: 05/25/20

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Tropical Contracting, LLC	564,475.00	564,475.00	
Guinn Construction, LLC	752,740.00	752,740.00	
Gulf Group, Inc.	812,687.00	812,687.00	

The apparent low bidder is 1 % above the engineer's estimate.